Part-1/9m-1
Compulsory / aAfard

What is equity in teaching-learning
process ?
(A) To treat every student equally.

(B) To provide them support as per their

individual need.

(C) To provide them equal opportunity
to grow.

(D) To behave with the students equally
without any discrimination of caste,
gender etc.

ST - 37TeTH <hl Tfshan | =1 99T & 2

(A) T B & Y THM TR AT |

(B) STeh! SAfeRITTd HATERIhell b IFHAR
378 TERIA 9EH LT |

(C) 3= forehTd & THM 319 YgH T |

(D) Sfd, e 3mfe < wewra = fomr s
o H1Y FHH STIER HLAT |

The primary task of a teacher is

(A) To stimulate, motivate and guide :

students’ learning.
gg To teach good habits in students.
textbook units.
(D) To satisfy the expectations of the
principal, parents and society.

T TR187h T T

(A) BT o AR 1 Fiearfad, I 3T
T |

(B) BT ol 7=t 3T g |

(C) Fuifd  digashs 3 UTgAgEH

%1 TGHT |
(D) JaHEE, AE-Udr 3R ga 6
YT 1 I BT | (A)

What is the level of the following questions ?

like — ‘Prepare a diagram on ... ,
‘Explam the components / parts of ........ ) i

‘Conclude the characteristics of .......
(A) Understanding level
B) Analysis level
C) Creativity level
D) Application level
Smg FIERFATE ?

03 (Computer Sc. & App.)

To teach the prescribed syllabus and |

4.

6

was the educationist who gifted
Kindergarten Education System to the

World
Gijubhai (B) Dewey
C Herbert (D) Froebel
Terewmre favet yomeft w51 SuER feam an|
(A) Tﬂ—sms‘ (B) et
(C) &I (D) Whisid
MOOCs must contain the four quadrants
1E)er SWAYAM guidelines.
ich of the following is correct list and

sequence of these quadrants ?

(A) e-tutorial (video), e-text (reading
material), = self-assessment tests,
online discussion forum

(B) e-text (reading material), e-tutorial
(video), online discussion forum,
self-assessment tests

(C) e-text (reading material), e-tutorial
(video), e-tutorial (audlo) self-
assessment tests

(D) e-tutorial (video), e-text (reading
material), online discussion forum,
external assessment and certlﬁcatlon

SWAYAM % foan-faden & 31gan
MOOC T 4R =gafyr g4 =fge |
ﬁwl%i%aﬁﬁaﬁqwsﬁa@aﬁﬁﬁﬂﬁ
T 3T TR

(A)émﬁw@%ﬁ) 3-SR (TS

qrft), T -edTehd qhET, HATers
== 79 (BRA)

(B) -3 (Yad4 dmft), 3-TFIEd
(fifen), maﬁw(qﬁm),
- AT qEu

(C) 3-ea2 (Y3 dmfl), 3-TgeIfera
(aﬂ%ﬁ)qéza@fwa(w%ﬁ) -

(D)ée;e@f(amaﬂ%aﬁ) -3 (T
gmfl), e == g9 (BRE),
STEH JeAreh 3T JH0=

Plagiarism is allowed by UGC
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ELGﬁHQI BRI Fefiaw i s fafemi &
EUROEIRCIN
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(©) 15% (D) 20%
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10.

Which of the following is not the
example of qualitative research ?

(A) Ethnography (B) Survey

(C) Case Study (D) Focus Group
fraferfiea & @ &9 @1 TS Y H
IETET TR & 2

(A) Fofa-aviF  (B) Tee

(C) &tk AZFH (D) Hebfrad TG

Which of the following inferential
statistics data analysis technique will
you use for the data that is less than 15
and selected using Convenient Sampling
Technique ?

(A) A Variance Test

(B) A Parametric Test

(C) A Non-Parametric Test

(D) None of these

GiIaTSieh TR Tehileh BT ST
Hleh I T 3R 15 & Y ST o 1T 379
= o @ *F @t g anfessht s
TergeTeT qehftes 1 IUFTT BT 2

(A) T ferawor qhteqor

(B) Ush Yrafetsh qieqor

(C) T TITH(Teh Thequr

(D) 3T § 1S T

Which of the following is NOT a useful
software to analyse the data obtained
through research ?

(A) Microsoft Excel (B) SPSS

(C) SSPS (D) PYTHON

IAHYH b WEH F U HAfhSl I
v 1 & fou fafaRga g @ s @
TSR ST T8l & 2

(A) WISHIETTR T (B) THICHTH

(C) wougdied (D) YA

Which of the following types does NOT
belong to “Types of Interviews” in
research ?

(A) Structured Interview

(B) Unstructured Interview

(C) Personal Interview

(D) Impersonal Interview

freferfiga & @ ®F @1 YR IgHYH |
“HTRATesh R o T | T erd & & ?

(A) GIFEd BRI

(B) 3ITERIT ATRAThR

(C) afeaeh HTETTehR

(D) JraferTeh HTETTh R

LR A g
| TR SfieH o Wt ol HH TE a1 | SEa:
| Ao 379 ST S WEHISS! & BHRI TEEhid J 3
| I "GO Bl OIS e & 3N EHR Tyl e <
| ol TS W HE T ¢ | 36 WY & WM WA
| EXAT o U IE B T | FA9H e Jomett
| Jeed S I UH HHM o FoTC FET-Rehiien wi
. 3R U@ SHHT B | T, Y IR T 3 fedl
| BUTTR & Fifeh I 3T i TR I s 6
| SO gR ¥ S $9 G 1 S A o -

Read the following passage and answer the

. Questions given below : (Q. 11-15)

The scientific and critical mind of India

must be reawakened from its slumber. The

ancient culture based on the vision of the Vedic
and Upanishadic seers did not minimise the
importance of our earthly life. In fact, opulence,
inner and outer, was the driving force of this
culture. But for about a Millenntum and a half
now our culture has let go of this fine balance and
got trapped into the ascetic denial of our terrestrial
life. With this began the decline of the great
Indian civilization. The present education system
aims at making the child an information-
recording machine and a robot for making
money. Mathematics, computers and machines
are everywhere in these days because they are the
gateways to lucrative jobs and subjects which do
not enjoy this repetition - history, geography,
languages like mother tongue and Sanskrit - are
out. The second grave defect of our education
system 1is that it 1s gravely denationalising. No
German education would be regarded complete
without a good acquaintance with Goethe, but
Indian education has no such concern about the

i sources of our culture. It is ironical that Indian
. education is uncritically trying to emulate the
i West just when the West itself 1s going through a

crisis of faith with regard to its institutions of
education and culture. It is desperately wondering
what has gone wrong as it faces mounting
problems 0% drug addiction, teenage pregnancy
among high school students, an existing
hopelessness among people of all ages as well as
a social organisation that sets a premium on greed
rather than on compassion and love.

e i o A g o s

& I GIfTE : (T, 11-15)
T o ST 3T AT AT
35eh! i & foh & S B | Afes 3R 3ufg
T IMYTRG T TE&hid 4 §AR

<l Ik wiferd o |
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R SFERIHT R &l 8 | T o 37 U=
form 18 oft Srfe frer o 7l =t St &, AfeR
R 1T o1 AT Teehia < @it 6 R H Udt

1S e 8 & | 7 forewer & p v fren v
ferell STTeATerT o UfTerm <1 TR0 i i I |

HE 2, T afvem W e s Tl % T
LI o Hey 3 forva i & Tehe T ST 8 | T8
TR & T @1 & Top o e 21w & i aw

TS o S Ueh Hio[gT FRrsm <hl st Tuenati s

HTHAT S T8 8 ST 0T 3R 3 o ST AT |

Jrfenge Tenfud T g |

11. The author of this paragraph wants to
Indian culture.

(A) revive (B) criticize

(C) praise (D) None of these

39 ITTSE h @ ANATT TEBId I/l |

AT ATEd 7 |
(A) GASfiterd (B) 3=
(C) @ (D) $TH | IS &I
(A)

12. The word ‘opulence’ in this paragraph

means

(A) peace (B) wealth

(C) values (D) None of these

T =G H e g 1 31 7
(A) wiifer (B) &
(D) T8 § 15 el

13.  Which of the following is NOT an issue

faced by the western society as per the ;

above text ?

(A) Pre-marital sex among adolescents
(B) Various addictions

(C) Depression

(D) Lack of faith in God

frffad 3 @ F4 1 I T %
AR ufvadt TS g AmAT fohen S
T HEl & 8 2

(A) et & st foramg 4o =i Geiy

(B) Hq

(C) RN

(D) $ver H forgame i wrft
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14.

15.

16.

“No German education would be

regarded complete without a good

acc(ljuamtance with Goethe.” What do you

understand by this line of the text ?

(A) The author praises German
education system.

(B) The author likes the German artist
Goethe.

(C) The author emphasises teaching of
arts and culture in education.

(D) None of these

‘ﬂﬁ@g IS qﬁwgﬁmﬁé%ﬁaﬁq

e qof &1 7 STt B 17 31=ee i 3|

Ul AU RN EAAAR?

(A) oTEeh o e Somret shi ST i 2 |

(B) G SiHH <heflehI TIIU i 0 hid ¢ |

(C) s T1em § sl 3R T=hid &
e A g |

(D) T & IS Tl

According to the author, our education

system is denationalising because

(A) It does not teach about the great
seers and sages of India.

(B) It does not teach about the great
artists of India.

(C) It does not teach about the ancient

language and literature of India.
D) All of these

% IgEr, wAh fuenm e
FFUGRIHTT <L TEl B Hifeh N
(A) T8 WA  HEM RI¥a1 3 Hdl & R
7 7l forgrei ? |
(B) I8 WA % HEM Hellhii o a1 T Tl
ot 2 |

(C) ¥18 WRA = T W91 3R Hifeed
TR T2 e @ |

(D) @& &+ft

A conference or a meeting or even a

mela or procession is a ‘communication

event’, newspapers, radio, cinema and

television are ‘communication media’,

phones, computers, satellites and the
internet are ‘communication ’

(A) spaces (B) media '
(C) technologies (D) process
Th G I1 Th o3 A1 A& deh {h Th

AT A1 @ T TR FeAT 7, THER-
w, e, fgam s efifesm w=r
T’ E, BH, FI, IWE I FEAE

TR 21
(B) Hifean

(A) AT
(C) vrenfuferai (D) wfsran



17.

18.

19.

20.

21.

The Interpretation  process in
Communication takes place in )

(A) sender g ) message
(C) receiver D) channel

IR | AT Uk (FHEE 1 ) |

FEA R |
(A) ﬁw (sender)
(B) H<I (message)
© Tedehdl (receiver)
(D) EER] (channel)
What is of greater concern is the effect
of ¢ > which could result from
repeated exposure to scenes of violence
in programmes, news and cartoons.
EA StereotT{pes
B) Generalisation
C) Desensitization
D) None of these

S 3tferen feiar & foww 8, 98 ¢ &l
TS B, ST ShEshHT, GHET 3T ki
féan % gwl # dR-an fe@m &

IRUTTREEY 2 Jhdl 2 |

(A) Sfgaried B) @M=t
(C) FEAHT (D) TTH & HIE T
Environmental Stress, Competing

Stimulus, Subjective Stress are examples of
(A) Noise

(B) Physical barrier

(C) Frame of reference

(D) Emotional barrier

e, gfceeff 3Euw, safedwes
qTa fohdeh 3TE & 2
(A) IR (B) s sen
(C) Hey T (D) WTa-TcHe STeT

Gestures, Grunts
examples of

(A) Evolution
(B) Non-Verbal Communication
(C) Noise

(D) Verbal communication

and Grimaces are

, ECEHT 3 g s fohereh Seretn 2
(A) Tam (B) TR-HiRge TR
(C) TR (D) Hifgss gaR

Find the missing number in the given

series following the same pattern :

& TS e § gAM e 1 SR
A FEIT A I :

18, 24, 84, 294, 798, (?7)

(A) 1682 (B) 1788 (C) 1867 (D) 1932

22,

23.

| 24.

Shyam bought an old Honda Bike and
spent X 1,500 on its repairs. Then Shyam
sold it to Rohan at a profit of 20%.
Rohan sold it to Rudra at a loss of 10%.
Rudra finally sold it for I 12,100 at a
profit of 10%. How much did Shyam
pay (in %) for the old Honda Bike ?

I H T U BieT S1geh GLie] 3T geh!
A W T 1,500 @9 fpu | i w358
UET Bl 20% o 19 T & fem | Usd 3
3 3g Bl 10% hl BT W = fem | vg 3
HATRITHR 38 T 12,100 T 10% o 19 W
99 feam| wm 9 gt giet 915 o o1

foReT (T ) YA fema 2
(A) T 8,600 (B) T 8,685
(C) % 10,800 (D) % 10,185

There are three athletes P, Q and R at the
same point. P starts running from a point at
a speed of 40 m/min. After 5 minutes, Q
starts running after P with a speed of 50
m/min. Simultaneously, R also starts
running after P at 60 m/min. What distance
has R covered (in m) when he catches P ?

H Teted P, Q IR R U &l faig W e | P
w foag @ 40 wfer/fme i 7ifd & e
IJE B g | 5 M s1g, Q, P & Ui
50 e /fire 1 71fd & et & a8 |
gy &, R off P & 11® 60 Hiex/fime 6
Tl & EreT I& LT & | P ol Uehsd TR

3 fepeft gt (e ®) T 2 2
(A) 700/3 (B) 1000/3
(C) 600 (D) 1300/3

In an election between two candidates,
the winner got 82% of total vote cast and
won the election by a majority of 3840
votes. What is the total number of votes
cast if no vote is declared invalid ?

Gl IFIGAR o o9 T AT H, foordn i
%ol STol T HAl T 82% I §IT 3R
3G 3840 Tl o SgHA | TATE Sid ol |
I IS Ta A IS T&1 fohan S 2
Al STt TTT Al Y Hol HEAT AT 2

(A) 11000 (B) 4000

(C) 9000 (D) 6000
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25.

26.

27.
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Read the following information carefully
to answer the question given below :

(1) X *Y means Y is mother of X.

(i1)) X + Y means X is brother of Y.

(i11)) X —Y means X is sister of Y.

(iv) X/ Y means Y is father of X. i
Which of the following definitely means
that ‘P is grandson of Q’ ?

Jo fou M oy H IR A F
freferfiea Sl 1 STHYES Ue
OX*YHAGRY, XFHIATR |
()X +YHRIIFEX, YR UER |
() X- YR IFZX, YHI &R |
(V) X/YHATRY, X HTTUar? |
Frerferfaa o @ forerept fifvaa w0 & aef 2
f6 P, QH1IUETR ?

(A)P*H/Q

(B)A-P*H/Q
(C)A*P*H/Q

(D) None of these/g:lﬁ @?ﬁé:ﬁﬁ

Consider the following argument :

Major Premise : No squares are rectangles.

Minor Premise : All rectangles are circles.

Conclusion : Some circles are not squares.

What is the Mood of the above proposition ?

frfafgd oo = famm =t

%g@a INUR-TH : HI5 oft o 3mrd &
|

Y INER-AT : THft A I 2 |

e : gp gt T 7 | =

IR TR T TG FAT 2 2

(A) EAO (B) AEO

(C) ATE (D) EAT

Choose the analogy that best matches the
example provided.
SOOT : GRIMY
(A) RAIN : SODDEN
(B) PALL : GAUDY

(C) FROST : TRANSPARENT
(D) DUST : RADIANT
98 WgYd Y4 S UgH fohT T I W
e 3191 Al @1l |
i@ : T
(A) 991 : -/  (B) 3T : WShIeAT
(C) UIet: IR (D) 4e: SIfcaH ™

28.

29.

In following question statements are §iven
and these statements are followed by
conclusions. You have to take the given
statements to be true even if they seem to
be at variance from commonly known
facts. Read the conclusions and then decide
which of the given conclusions logically

follows from the given statements,
disregarding commonly known facts.
Statements Some questions are

answers. Some answers are writers.
All the writers are poets.

Conclusions :

. Some writers are answers.

II. Some poets are questions.

III. All the questions are poets.

IV. Some poets are answers.

A) Only I'and II follows.

B) Only I and IV follows.

g Only I and 1V follows.

Only II and_III follows.
HAT h a1g ey | ST
wtﬁm - ”%3 9 Hﬁ;?ﬁq

Y9 § %A U T § I A

T H <l TT AT B .

g @ =1 weffa Bid & | [ ] Ug 371

o frartfia =t fop_feu o frsest & & &4

|1 A T a2 shi 3ueT whid gy, fau

Wmaﬁwamxgﬁmﬂm%%l

hYA | TGS 2 |
mmﬁf%@w

freerd 5

1. TG IR |

L. gmﬁrm%

. Ift s hfa g |

Iv. a»-i%ra%ﬁtél 3

A I 3 11 3= |

EB))éromaﬁuvaqgawm%ﬂ

(C) shaet I11 37 IV T HLd 8 |
D éﬁane»ﬁxnmﬁww |
gW)hoever thrusts a ife into% another

person should be arrested. Surgeons thrust
a knife into another person when operating.
Therefore, surgeons should be arrested.’
Which fallacy is committed in the given
argument ? )

A) Fallacy of accident

B) Hasty generalization )

C Apgea to unqualified authority

D) Red Herring

TR SfEd T =R AR a1l PRI

fohaT ST =1feT | JITEH ohid |9 Hoid
= o =1 =i9d & | 38T, "
Frwan fopa ST =Tfee |

fou e qeh o A it wifa g 2

T 9

(B) SAferantid qmT=fishtor

(C) 3T Tferehrt st 3Tdfiel

(D) E&f




30.

Which of the following statements are true

with reference to Vyapti (concomitance) |

according to the Nyaya system ?

(a) It expresses the relation between

two individual objects only.

(b) It expresses the relation between the
classes of individuals.

(c) It can be said to exist between two things
if they are related as cause and effect.

(d) It can be said to exist between two things
if they are related as species and genus.

Choose the correct answer from the
options given below :

(A) (a), (¢) and (d) only
(B) (c)and (d) only
(C) (b), (c) and (d) only

(D) (b) and %c) only N

S| e (TgAT

a’aﬁﬁﬁmﬁmﬁgﬁﬁqﬁ%éqw)% ?

(a) I8 hadl ol SAfdAl o S Y =T
HATE |

(b) T& K b Tl b i Helel &b T & |

3 Q1 el & o ST ThelT B
© a&awaﬁm?i@w T & |

d HEEEEESEE RN
SN Rl Sk R

T HerE g |
e few o freredi 1 & U8 Ia s =R hifT
(A) %5 (a), () HR() (B) i () HR(d)
(C) % (b), ()3 (d) (D) e (b) 3N (c)

g. No. 31 to 35 : The table given below provides
ata about investment done by different persons.
Read the table carefully and answer the questions.
(Note : Calculate simple interest unless specified
and all questions are independent of others%.

9. 31 9 35 ;: Fi9 & 7 arferer Tl safwet g

foru U Frew & SR T ST JEH T B | dTfotehl i |

&I | U¢ 37 I 1 IWE |
(T : TR0 TS 1 TTUAT L 6 b I8 T & |
SRt S gt & e 1)
Person Rateof | Time |Principal| Amount
=t interest | (Years) | werem LU
FqER | 1 ® ®
(=)
Amar / 3T 3% 1,800
Brijesh /fsom1 | 3% 3,000
Chirag / fem 4 2,900
Divya / fgem 2 4,500
Ekta / Tehdl 4% 2,000
Fenil / ®f& 2 6,000

31.

32.

33.

34.

If the interest rate received by Amar and
Chirag is in the ratio 2 : 3, then find in
approximately how many years the
money invested by Chirag will be
doubled with same rate of interest.
Ife 3R SR R g oe &9 @ 2 : 3
% I § g, ar ferm g frew < e
TR 9H &9 & 8 A9 fehad aui |
& ST 2
(A) 33.5 (B)20 (C)22.22 (D) 29.40
If the ditference between the interest
received by Ekta and Brijesh is I 420 and
Ekta invested her money for double the time
period for which Brijesh invested his money,
then find the amount received by Ekta.

If¢ whar 3R TSRt gRT ST =TS % s
IR T 420 g 3TN Toha 7 fororer g o Hr
TS ST | QT STare o T 31 e fert
fora B, 1 Weha bl ST U1 3T <hIfSTT |

(A) 2,298 (B) 2,785

(C) 3,050 (D) ¥2,960

If the amount received by Chirag is
twice the money invested by him, then
find the amount he will receive after 2
years if he invests same amount of
money in compound interest for 2 years
comr]%ounded half yearly.

Rl FI ST T 3Tk gry FEw
HERUAE] 7, d1 ma hife fp 2 a9
e 39 i st gl afe a7 3
iyt 1 2 oY % fou e it
Tohd [, TS H e LT 2 |

(A) T2,233.56 (B) ¥2,549.45

(C) ¥2,322.62 (D) %2,122.46

If the interest received by Fenil is 20% of
the sum invested by him, then find how
much more money as interest he would
have earned if he had invested the money
in compound interest for the same years.

TR TS SIS 39k 2N

0

35 FHM TN o (¢ ThalG

Tere BT A1 39 foha 31fYeh st e |
(A) X80 (B)X60 (C)X65 (D)X 75

If the interest received by Fenil is I 240
more than interest received by Divya and the
rate of interest received by Fenil is 2% more
than the rate of interest received by Amar,
then find the interest calculated by Divya.

Ife %A g1 e =Tt e g vH = e o
% 240 3k & 3R WA g0 I S hl
T I g 9T ST <hl & H 2% AT 3,
qt feea gry o foma TR =Tt S <hifTT |
(A) 1% B)2% (C)3% (D)4%
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36.

37.

38.

39.

Which one of the following statement(s)
1s/are true about QR code ?

I. It stands for Quick Read.

II. It is a two-dimensional bar code.

IIL. It cannot be used for cryptocurrency  ;

wallet addresses.
(A) Both Iand II §B) Both II and III

C) Only II D) Only III
%\W\%\'@ﬂﬁ@ﬁ@/ﬁ%% QR FiE &

TRATE /22

L. saaﬂaﬁqéaﬁﬁm%%nckRead)%l

II. I8 gi-fofa s 2 |

111, 39ehT 9N FoReiehiE afele Tead
fore & fopn s wehaT 2 | .

(A) I3RS (B) 11 3R I EHT

(C) aet 11 (D) ke 111

Which video compression standard is
commonly used in videq conferencing ?
SfifeAT IR § AR i

R form
HIGT TUES h1 ITANT fehaT SITaT 2 2
(A) H.264 (B) MPEG-2
(C) MPEG-4 (D) VP9

____is adigital initiative of government
of India in higher education that aims to :

promote hands-on learning of Robotics
and embedded systems in colleges.
(A) E-Yantra (B) Virtual Labs
(C) E-PG Pathshala(D) E-Shodh

I fRTefT H I FhT i Th
Uedt B TSEeh BT Hiows & aifes 31
TS T i e 1 SeET e g |
(A) 3-33 (B) I3 isH
(C) 3-4ish yresmeT (D) 3-3ny
What is the National Institutional
Ranking Framework (NIRF) ?
(A) A government body responsible for

accreditation of higher education
nstitutions.

(B) A methodology for ranking higher

education institutions in India.

(C©) A platform/framework
students give feedback about
colleges and universities.

(D) All of these

(NIRF) T8 2

(A)ﬁ%ﬁé@ﬁ@ﬁﬂﬁﬁ%%ﬁ%

orier v g fem |

(B) Wt 5 3, P e 1 b 3 |

foTQ weh iy |

(C) U TE /T &l B hictsll 3ﬁI
o :

T aR A Ifafsran <d 8 |
(D) ¥ Tt

03 (Computer Sc. & App.)

where |

40.

41.

42.

|43,

What does it require to set-up an Intranet
for an organization ?
A) Computing devices
B) Communication links and
Interconnecting devices

(C) Protocols ~  for _enabling
communication among devices
D) All of these
%?Fﬁ TS o folU 3gHe TA1a &
fere s 2 2
(A) :
(B) H=R fo7sh 3R
(C) o off<l TR ! W& L 5
(D) I aft
Under which protocol the Clean Development
Mechanism (pCDM) is implemented ?
A ﬁyoto protocol
B ontero protocol
C) Paris agreement
D) Cartagena ggrotocol )
JIeiehlcl o dgd s o™
GISOSIUNERIE I

(A) F (B) Hiel SeEhiA

(C) U@ Tusiidl (D) IS TIdiehicd

Certified emission reduction credit represents

(A) Reduction in one metric tonne of sulphur
dioxide emitted to the atmosphere.

(B) Reduction in one metric tonne of
nitrogen oxide emitted to the
atmosphere.

(C) Reduction in one metric tonne of carbon

dioxide emitted to the atmosphere.
(D) None of these

IS haldl shige  (certified

emission reduction credit)

(A) TIHSA H IEAA Hohl SEIAFHEE
% Th Ul < § T | §
(B) IIHSH W I AT5gIoH STaTEe
% Teh Hfgeh o H | }
(C) ITIHSA H IHSIA HIEH SHIHATTFTES
o Ush Higsh o H 1 |

(D) 378 | IS T

Arrange the crops in an ascending order

for their water footprint.

A) Wheat < Rice < Coffee

B) Rice < Wheat < Coffee

C) Coffee <Rice < Wheat

D) Rice < Coffee < Wheat
& 3T

ST ghgd (water
footprint) o ToTT STRIE! 3 H SHATEIA . |
(A) g < TS < HIh
(B) e < 7T < it
(C) ih! < =g <5
(D) T < il <5



44.

45.

46.

47.

How many kilograms of CO, is

equivalent to 1 kg of CH, in terms of |

global warming potential ?

et Ll N —

CO,, 1 freiiom CH, & SRR 2 2
(A)" 10

B) 25
€c3 S0 :
(D) None of these/STH H IS T&

The United Nations Conference on

Environment and Development

UNCED), also known as the °‘Earth

ummit’, brought together

representatives from countries

to discuss about the impact of human
activities on the environment.

A) 179, socio-economic

B) 177, socio-demographic

C) 175, socio-cultural

D) 173, bio conservation

foprE W Tg® TP THTH
(JuEEe), 8 ‘gl Rret aeE %
w7 § oft I ST 2, D
yfaffert = wfaer W aHa

et 3 S % R A

T wh |1 A |

(A) 179, GraThTeh-3Tfh
(B) 177, AT —ST:
(C) 175, QrTfTeh-
(D) 173, 9 T&q0T
In most of the States of India, the Vice-
Chancellor of a State Government
University is appointed by .

A% Chief Minister of the State

B) Home Minister of the State
C) Hon. Governor of the State
D) Education Minister of the State

c

(Dﬁ T o foren Wt
Which is/are the online

Flatformgs])l in India ?

. DIKSHA 1II. SWAYAM
III. PARAKH IV. SWAYAMPRABHA
gAg Only I, II (Bg Only I, II, III

C) Only Ii (D) Only L I, IV_
A § STeTE 18701 7l b |1/8 8 /8 2
I dan . @&

. 7@ IV. TR

(A) ae I, 11 (B) shad I, 11, 111
(C) aet 11 (D) &I L, 11, IV

learning

48.

49.

50.

Which of the following institutions/
organisations play important role in

designing the curriculum for all the
levels of school education and higher
education in all the disciplines of
knowledge ?

[. NCERT II. NCTE

1. UGC IV. AICTE

(A) Only L II (B) Only L, I, I1I
(C) LIL, 100, IV (D) Only L, I, IV
M o a fawai # wRefl fren ok 3=
et o |t & o fTQ qTa@shn AR &
T fafafgd & 9 ®F @ GE/9ed
Tgaqut ferent fuma § 2

[ TERARE 1L TR

IV. TITEHER
(B) had I, 11, 111
(©) LIL, 100, IV (D) sad I, 11, IV
Which of the followin
University was situate
present time ?

(A) Nalanda (B) Taxila
(C) Vallabhi (D) Vikramshila

fefafga 4 @ w9 @ e ardE
Torvafoamem adam @99 & wifesaE |

ancient Indian
in Pakistan of

f@rcr?m
(A) ATl (B) q&rfret
(C) oot (D) ferspufstemn

NEP 2020 has emphasized on

I.  starting all the engineering and medical
courses in the vernacular languages.

II. reviving ancient knowledge systems.

III. converting all the colleges into
multi-disciplinary universities.

IV. designing a new curriculum for Early
Childhood Care and Education.

(A) LILILIV  (B) Onlyl II, IIT

(C) OnlyL,III (D) OnlyIL, IIL, IV

TAgdt 2020 A R AR e ¢

L &t sSiifEi s afgwe aigasea
T T3 | I T |

II. ST=E S Jomferlt sl T |

L &ft sl wg-fawres
Teroaforaneri @ af@faa e |

V. YRfeh STeaTaee c@vTe 3T fra
o ToTT Teh T UTSAhA IR ST |

(A) LILILIV  (B) saat I, I, 111

(C) haet I, 111 (D) e 11, 111, IV

03 (Computer Sc. & App.)



51.

52.

53.

Part—I1/ 9 1-11 .
Computer Science and Application / FeR fam wa srgw=m

For the following predicates,
P(x,y): x is taller than y
Q(x,y): x is heavier than y
R(x): x is bold

Write the symbolic
statement: If x is taller than y and not
heavier than y, then x is bold. Here,
specifies logical AND operation and ~
represents NOT operation.

frferiga faed <6 o -

P(x,y): x, yﬁ?lﬁﬂé |

Q(x,y): X, yHWRI ? |

R(x): x TSR |

$H Y I Hihideh €9 [IRaT; A7G x, y d

Fﬁﬂ%ﬁm y 8 a7 2, 4 x dree |
A dTfebeh AND HeTer Ffds et 2

3ﬁ'{ NOT T &1 f&q0 L1 2 |

(A) Vx(Vy P(x,y) * ~Q(x,y) -> R(x))

(B) Vx(Jy P(x,y) " ~Q(x,y) -> R(x))

(C) Ix(Vy P(x,y) ~ Q(x,y) -> R(x))

(D) vx(3y P(x,y) " Q(x,y) -> R(x))

Consider two non-empty sets P and Q. If

Q is a subset of P, then P’-Q’ is equal to
. (here ' represents complement

set and — represents the set difference

operator).

gl 3T Tt P 3R Q W fomm +i |
Ife Q, P &1 Tk I9TY=A 7, dl P'-Q’
 h SR | (TE T 9= &
& AT 7 3R — I0= A ThReh

1 fequr ST B 1)
(A) P’ B) Q
(C) Q-P D) {

How many students are required at
minimum to ensure that atleast one of
them is sharing his/her birth month with
five other students ?

I8 AT T % {0 w7 @ HA fopad
maﬁwﬁw%%mﬁwﬁw
Teh A9 S Rl HEHET 9T 3 BEI
Y G LG8l ?
(A) 6
(C) 65

(B) 66
(D) 61

03 (Computer Sc. & App.)
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54.

5S.

56.

Consider a set of integers in the range of
1 to 500 (both inclusive). How many

integers are not divisible by any of 3, 7
or 9 from these ?

1 & 500 (ST |fga) <t wam § quifent &
Teh T2 W feam Kl | 37 A foha quUIies 3,
79U T el @ oft favrsw i € 7

(A) 214 (B) 286

(C) 246 (D) 254

Consider a group <G,*> = {2, 4, 6, 8}
and the operation defined on it is
multiplication modulo 10. What is the
identity element in the group under

multiplication modulo 10 7

T T8 <G,*> = {2, 4, 6, 8} W fo=am &l
3R 39 R IRwTa |ishat oH Jiggel 10
2 | TN HigTell 10 % d&d g o TeaH
TAFRE 7
(A) 6

(C) 12

(B) 9
(D) 5

A fully connected undirected graph has
7 vertices. How many edges should be
removed to construct a minimum

spanning tree from this graph 7

7t TE ¥ I 3¢ AMfGE 7 ° 7 3 g
& 158 % § =mam ferefiof & & famfor
foTu fopaft R =1 ger ST =feT 2

(A) 28 (B) 21

(C) 15 (D) 22

A bipartite graph has 14 vertices. How
many edges can it have at maximum 7

w feamia o o 14 3 B9 8 | 36

JrfereRaH fohd PR B Tehd & ?
(A) 49 (B) 156
(C) 91 (D) 105



58.

59.

60.

Which of the following Boolean
expressions is ‘NOT TRUE’ ? (Here + |
represents OR, - represents AND, and ' |
represents NOT operation)

frferfiad § @ w9 & e o T
&' 2 ? (F& + OR I WIAT &, - AND i
AT ®, 3R ' NOT JATRIH i g1 2 1)
(A) A+1=A  (B) A+A'=1

(C) A-A=A (D) A-A'=0

Which of the following can represent

optimal solutions of a linear programming

problem in two variables if it has infinite

number of optimal solution ?

(A) A line satisfying all constraints

(B) A convex polygon shape bounded
feasible region

(C) An unbounded feasible region

(D) Infinite optimal solutions are not
possible

frefcifiea # @ %F § g = § T e |

ST WA < S5 qHTg 1 (HEa0 |

W THhA § UG IEH AW TEIEE i

3 TR ?

(A) |l ST 1 qU H el [

(B) 3T SgHS TN TG HHWTST &

(C) 3Tehfira e &

(D) 3Fd STAH G G99 T&1 & |

What will be the optimal value of
objective function for the following
linear programming problem 7
Maximize Z = 3x + 2y

subject to

x+2y <=4

x—y <=1

x>=0, y>=0

frfeiiea Wess st w@en * f\a{q

3299 %o Bl STAH A =T g ?
JAfIHAT Z = 3x + 2y

ENG

xt+2y <=4

x-y<=1

x>=0, y>=0

(A) 3 (B) 4

(C) 8 (D) 12

11

61.

62.

63.

Activities A, B, and C are the immediate
predecessors of the activity Y, and Y
requires output of these activities for its
execution. If the earliest finishing time
for the three activities are 8, 15, and 10,
respectively, then what will be the
earliest starting time for Y ?

A, B 3 C wfdafafert v wfafafr 6
Tl qaad & 3 Y ol 38 fIsa1e &
foru 57 ifafafert o 3eqe it sTevTehar
2 | Ffe o nfafafemt & fore sfrenfasfrer
T {9 A 8, 15 3 10 B, Y
fore sfenfersfrer st w9 m gm 2
(A) 10

(B) 15

(C) 12

(D) Cannot be determined / Fruifa &

Topar ST Hehan

If the two-fifth of three-fifth of a number
is 18, what will be the 12% of that
number ?

e foreh e 3 -t 1 -t
I 18 &, 1 38 HE&H1 1 12% 1 &I ?
(A) 75 (B) 9

(C) 3 (D) 108

A bit stream 10011101 is transmitted
using the standard CRC method. The
generator polynomial is x*3+1. What is
the actual bit string transmitted ? (Here
x”3 means x raised to power 3).

e CRC fafer 1 39 otk foe =fm
10011101 E=itd fopam Smam 8 | SR
IS x"3+1 B | T arefess foe feg
R 7 (HﬁXA:SW?HQf%XS) |

(A) 10011101000

(B) 10011101100

(C) 10011101111

(D) 10011101101

03 (Computer Sc. & App.)



64.

65.

What is the two’s
101100101 ?

101100101 T 2 T Tk T8 ?

(A) 010011010  (B) 101001101
(C) 010110010 (D) 010011011

complement of

In the producer-consumer problem using
shared memory, which of the following
is correct statement ?

1. A producer can consume while the
consumer is producing another
item.

2. There is no need of any
synchronization between producer
and consumer.

3. The buffer resides in the memory
area which is not shared by
producer or consumer.

4. A buffer must be available that can
be filled by the producer and
emptied by the consumer.

(A) 1 only (B) 2 only

(C) 3 only (D) 4 only

TTST THI <1 ITFNT hid U, FHuTar-IqeihT

g, A A g s AR ad ® ?

1. 3qEH UM H Gohal g wdfh
IUNIHT GE SR T IATE L T
BAE

2. IdIch N IUNHT % ST TRl
ATAHA hl STTAIThT T8l © |

3. SRCHAR &7 1 WaT g 59 Scres O
IYHIRRT gRT |13 T&1 fhan ST 8 |

4, Th TR 3IUAsY BAT IEC o9
3IAEH g W S Gohal 8 AR

IUNIHT I WTef Toha ST HehaT B |
(A) Had 1 (B) hdet 2
(C) Haet 3 (D) had 4

03 (Computer Sc. & App.)
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66.

Match the following in the context of
computer architecture and digital logic
circuits :

1. A combinational (a) Program counter
logic circuit which (b) Demultiplexer
has single input (c) Encoder
line and multiple (d) Multiplexer
output lines.

2. The register that
contains the
memory address of
the next instruction
to be executed.

HIL TfeheaR 3TN Tesfied AT @lehe

%Hﬂﬁﬁﬁﬂ%@ﬁaﬂﬁmaﬁ

1. U HIEHIAA Wlloeh  (a) HRIsHH T
afehe fsem et 792 (b) w
1 B | ¢ ) TedTd  (c)

SalS AIE (d) SEEehd

2. 9& X
fromfeq fopu 9 et
ITTeT TET <1 AR et
B2 |

(A) 1-d, 2-c (B) 1-b,2-a

(C) 1-b, 2-c (D) 1-d, 2-a

67. What is correct in the context of page
fault in an operating system ?

Page fault occurs when a program

accesses a page of another program.

2. Page fault occurs when a program
accesses a page present In main
memory.

3. Page fault occurs when there is an
error in particular page.

4. Page fault occurs when a program
accesses a page which is not present
in main memory.

éA 1 only E 1 &2

C)_3 onl 4 only
ISR S T | @

TER 7

1. R aaaﬁm%aaaﬁé;ﬁmagi
T o U i

2. ﬁawa@raﬁm% T
B B TG U B TR el B |

3. U Hice Wsﬁm%wﬁﬁﬂﬁaﬁ
I3 A B 7 |

e

. , qed
R 7 Hisgg & B |
(A) Had 1 (B) 132
(C) +aat 3 (D) el 4
o



68.

69.

—

[\

[98)

b

. Direct

. Immediate

If the main memory is of 16K bytes, the
memory address size is bits.

(A) 12 bits (B) 13 bits

(C) 14 bits (D) 15 bits

Ifq g&T AUt 16K 918<H i 7, a1 JaRt
TGHHIABR  Fale |

(A) 12 faca (B) 13 fac@
(C) 14 fsem (D) 15 fsem

Match the following addressing modes
with their respective purposes :

(a) for array
implementation
or addressing

addressing
mode

Index
addressing
mode

(b) for branch type
instructions

(c) to access static
data

(d) to initialize

addressing registers to a

mode constant value

frafafiad R e # % HelE
ﬁ?ﬁ%mﬂﬁmﬁﬁ:

addressing mode
Relative

. ST TS IS (a) TN SRR A1

Tgfe < ferg
forétt < ferg

R % fora
e TR e

(b) I YRR F

R (o @ T
7.

(d) r%mﬁﬁwf@n

m:rqtamw?ﬂﬁ

= forg
(A) 1-d, 2-c, 3-b, 4-a
(B) l-c,2-a, 3-d, 4-b
(C) 1-b, 2-d, 3-a, 4-c
(D) 1-a, 2-b, 3-c, 4-d

13

70.

71.

The classification of buses into
synchronous and asynchronous is based
on

(A) the devices connected to them

(B) the type of data transfer

(C) the timing of data transfers

(D) None of these

Wrsﬁ IR IgeThrel W §E H
T 3TN & |

(A) wﬁ IS ITHT

(B) 31 TEHL o TR

(C) 2T IR & qHY

(D) 3 | H1E T

Which of the following is not correct in

terms of assembly languages 7

1. Assembly language is a low-level
programming language.

2. It consists of mnemonic codes.

3. It acts as a bridge between machine
level and human understandable
language.

(A) 1 only (B) 2 only

(C) 3 only (D) All are correct

Jrgeeft wmwian o ded ¥ faferfaa o &

HA A TG TR B ?

1. 3Eeell 9N Uh dl-oiae ST
IS8 |

. 3O T HIS B E |

3. g U3 % T 3R e g a9 o
M ITelt W1 % S |q @1 M
HA B |

(A) Had 1 (B) <heet 2

(C) e 3 (D) T af ¥ |

What would be the equivalent pointer
expression for referring the array

element temp[i][j1[k] ?
Tooft aca ¢ [i][j][k] s Eeiid & &
1T e e ST 1 B 7
(A) (((temp+i)+j)+k)
(B) *(*(*(tempti)+j)+k)
(C) ((tempi)+j)+k
(D) (temp+i)+j+k
03 (Computer Sc. & App.)



73.

74.

What is the output of the following code ?
f=ferfiaa e 1 msege F & ?
#include<stdio.h>
#define max 75
void main()
{
#if(max%35)
printf("Hello");
#endif
printf("World");
h
(A) error (B) Hello
(C) World (D) HelloWorld

Consider the case of inheritance where

both base and derived class are having

constructors. What will happen when an

object of derived class is created ?

(A) constructor of derived class will be
invoked first.

(B) constructor of base class will be
invoked first.

(C) constructor of derived class will be
executed first followed by the
constructor of base class.

(D) constructor of base class will be
executed first followed by the
constructor of derived class.

IR & A W fmEm w8l 3nuR

3R Fa= Avft g o EEh & | a9 F

BT 97 Y it oY ereq TS ST B 2

(A) a1 Joft &1 TEH gt o o
ST |

(B) mw%rvﬁmémqgﬁmﬁw
ST |

(C)Eg?q:r%vﬁéswsﬁaﬁq%ﬁﬁwrﬁa
WWW?&%WWWW
% T Bl |

(D) wwﬁvﬁﬁ;mﬁmﬁwha

mmaﬁtsa*mﬁmdﬁvﬁ

o L= ol |

03 (Computer Sc. & App.)
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75. What will be the output of the following
code ?

FrfTfad hig T 3T3YE AT BT 7

#include <iostream>
#include <string>
usingnamespace std;
classMyClass{

float size;
public:

MyClass(){}

MyClass(double size){

this->size = size;

h

bool operator<(MyClass m){
return (m.size< this->size

?true:false);

}
¥

int main(intargc, charconst*argv[])

MyClass m1(5);
MyClass m2 =MyClass(12);
if(m1l <m2){

cout<<"M2 is heavyweight.";

else{
cout<<"MI1 is heavyweight ";
b

returnO;

(A) M1 is heavyweight
(B) M2 is heavyweight
(C) Error

(D) Segmentation fault

76. A line is represented by two points A(1, 3)
and B(2, —1). Apply the transformation to
the line by shifting it to 2 units towards
right and 3 units towards down. What
will be the updated points A' and B' after
the transformation ?

T @1 W gl fegatt A(l, 3) 3 B(2, -1)
N AT AT B | 2 [ %1 Q18 3TN
3R 3 ghredl 1 A hl IR THEa
eh TUTALYT <hl TET I TYH hL | I
% oTe 3Tafad foig A' 3 B @1 81 ?
(A) A'(3,0)B'(4,—4)

(B) A'(3,6)B'(4,2)

(C) A'4,5)B'(5, 1)

(D) A'3,3)B'4,-1)



77.

78.

Assume that you want to show the

zooming effect on a cartoon character |
without changing its orientation and |

position. Which geometric transform
would you use ?

(A) Translation

(B) Rotation

(C) Scaling

(D) Translation and Rotation

A o b 31 fopet 1 & SAfeyH
3R feufa =61 sieet fomn St s femm
Ired & | 3 form sfirfir wdiaer
TR 4T ?

(A) graeRH

(B) Tew

(C) Ehfemm

(D) T 3R Ty

The maximum order of the B spline
curve is the number of
vertices of defining polygon.

(A) less than

(B) equal to

(C) greater than

(D) maximum order does not have any |

relation with defining polygon.

B g % 1 o i whor |

gyl SISt Y T 2
(A) Y
(B) o S

(C) ¥ 3ferh

(D)aﬁmnﬁﬁmtr&ﬂﬁaaggaﬁ

IS Y T |
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79.

80.

Which of the following is / are correct in

the context of Cascading Style Sheets

(CSS)?

1. CSS can be added inside an HTML
document as well as can also be
linked as an external document.

2. CSS is used for formatting purpose.

3. CSS helps in determining the
structure of an HTML document.

(A) 1 only (B) 1&2

€) 1,2&3 (D) 1&3

FEhfeT wed M@ (CSS) & wed H

feffga A a s a1/a wdi 8/8 7

1. CSS @ HTML S&ITds o 376 SISl
ST ghar B AR WY & 3 aEd
TEAAS % ®9 H ) e S gehdr ? |

2. CSS @1 ITAN HBIHT Ig3T o oy
fRT ST B |

3. CSS Uh HTML &ES 6l T
fuff@ s d e s g |

(A) e 1 (B) 132

(C) 1,2 3M3 (D) 133

Which of the following is the correct
syntax to link an external Extensible
StyleSheet Language Transformations
(XSLT) style sheet with an Extensible

Markup Language (XML) document ?

T e ATh3TT e (XML) g&ares

% Y THd TEEeEd  Wsanie

S TEWHIE (XSLT) ®Iga e &l

f® & & fow = % 9 =9 @ =&

faeam g 7

(A) <xml-stylesheet type="text/xsl"
href="sample.xsl">

(B) <xml-stylesheet type="text/xsl"
xsl="sample.xsl">

(C) <?xml-stylesheet type="text/xsl"
href="sample.xsl" 7>

(D) <?xml-stylesheet type="text/xsl"
xsl="sample.xsl" 7>

03 (Computer Sc. & App.)



81.

82.

Which of the following is not true about
structures in C programming ?

(A) Unlike unions, structures allocate

separate memory blocks for each of |

its member.
(B) Functions
structures.
(C) Array and pointer to structures can
be defined.
(D) Static members are not permitted
inside the structure body.

frafifea & & @4 @ C Yok o

TS o SR Tl T R 7

(A) It % faadia, TEAT 370 T
31T o ToTT ST - 37T HHR ATeh
JEfed e & |

(B) TTEAIA % 3TEX AT hl A Bl
gl

(C) ST % folu W 3R Uigel
iy fopem S Eeha 2 |

(D) &= e & 31t fRR sreREt 6
Agafer & Bl |

In Database Management System, which

one of the following ACID properties

ensures that once the transaction has

completed its execution successfully, the

updates and modifications to the

database are stored in and written to disk

and they persist even if a system failure

occurs ?

(A) Atomicity (B) Consistency

(C) Isolation (D) Durability

2O Heee faeen |, FEfafad ACID

TN H ¥ %N O gHftad wtar & 6

TSR o HheTdTqdeh oaTed 0 & S

are allowed inside

T, %E@Hﬁmqaﬁiwﬁm%wﬁé

w@ﬂzﬁt%@aﬁ%aﬁtﬁmﬂwaﬁ
WA I E®IE ?
(A) TEHifEd
(OREIESIGRE

(B) shEiedt
(D) SPerferdh

03 (Computer Sc. & App.)
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83.

84.

Which one of the following databases
are often used for handling large
amounts of unstructured and semi-
structured data and for applications with
a high degree of scalability and
availability ?

Frafafad & 9 F 91 Seed TR 99
e o rERfed S Srd-wifua 2 &
YT & e 3R 3= T <l Ao

3R TS aTel TN o TeTT T
ERIE IR
(A) MariaDB (B) Postgre SQL

(C) MySQL

Identify the correct statement about

normalization form from the following.

(A) A relational table is in second

normal form (2NF) if it is in INF

and every non-key column is fully

dependent upon the primary key.

A relational table is in third normal

form (3NF) if it is already in 2NF

and every non-key column is

transitively dependent upon its

primary key.

A relation is in first normal form if

every attribute in that relation is not

a single valued attribute.

(D) Both (B) and (C)

frfafga & @ gw=iemr wH & SR |

EHERCEIREEICETE

(A) T HHTH ATCTh] GHL HIHT &Y
(2NF) § 2 s3d 98 INF ¥ & 3R
T TR-Toft hictH JTIfireh Fpoff W
ot g | feft e |

(B) Ush G dlfetehl el T &Y
(3NF) & & 3¢ 7 Tect & € 2NF A &
3R T TR-THsit it 7T TTeifireh
il I IR fies ®9 § fft g |

(C) T HaY Yge! U= €9 H gl g Afg
39 §99 | T fRar T T
o forerar & &t |

(D) (B) 3 (C) g

(D) CouchBase

(B)

©)



8s.

86.

What do you mean by Index in the
context of database management ?

(A) A data structure used to store data

in a specific order.

(B) A mechanism for enforcing
constraints on data.
(C) A tool for improving the

performance of database queries.

(D) A way to encrypt data stored in a
database.

SEY TEYH & HeW T 3899 § JTehT I

qdes & 7

(A) BT BTEAT T IUINT Ueh Tafs 60 1
221 I TR T o Tofw fopan San 2 |

(B) ST W STYT3T ! AT i o foT¢ T
TR

(C) SIe® T & fasures § gam = fow
THTAE |

&1 Teh qUehT & |

How can subqueries improve the
performance of a database query ?
(A) By reducing the amount of data that

must be processed.

(B) By increasing the complexity of the
query.

(C) By slowing down the execution of
the query.

(D) By increasing the amount of disk

space required to store the data.

. 89,

e Terae Fd % Fe B E gu |

Hehdla ?

(A) e fe ST T o1 B T |

T |
(B) @&} sh SAfeetdT ! ST |
(C) Fat o fsare =t | b |

(D)%a@t%@%%qaw%@s

T hl AT gL |
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87.

88
(D) 2o # EE 31 Bl Uehe B |

What is association rule mining in the

context of data mining ?

(A) The process of finding correlations
between variables in a dataset.

(B) The process of reducing the number
of features in a dataset.

(C) The process of transforming raw
data into information.

(D) The process of storing and
managing data in a centralized
repos1tory

% o He¥ H uHIfueE w1 A

a7

(A) SIWE H = & &9 TEEEE Gio 6l
ik

|
(B) seme U fafSreansti < @@ & A
A T Tk |
(C) mﬁwg—d%ﬂaﬁwﬁwﬁﬁ

(D)Wﬁwﬁzﬁﬁéﬂaﬁ@r{w
IR &Y= i Tishan

In DBMS, the technique that involves
keeping a copy of the previous version
of a database page in case the current
version is lost or damaged is referred as

(A) Database Mirroring

(B) Replication

(C) Shadow Paging

(D) Transaction logglng

DBMS H, 38 1 FI1 HEd & (o
TSR @ S AT @i 8
H SeoH UST % TUST HERU0T 1 T

i T 3o & 7

(B) wfcrepfd

(A) g i
(C) et ufsm (D) ISR AT
the

Which  one  of following
terminologies and terms is not related to
the Big Data Systems ?

(A) Map Reduce

(B) Volume and variety

(C) Distributed file system

(D) Branch and Bound

ffafid 3 | % i vsqree 3R W
o é;rq forera @ g T R 2

(A) Hu frg™

(B) Ty TE SRR

(C) foaftd wrse freen

(D) T Ug 9138

03 (Computer Sc. & App.)
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91.

Which of the following represents a correct
matching of the SQL commands in a
relational database management system ?

(1) Update (a) Transaction Control
Language

(i1) Savepoint (b) Data Manipulation
Language

(i11) Alter (c) Data Control
Language

(iv) Grant (d) Data Definition
Language )

frafeifiea ¥ @ & Feyuwh Saed YaEH

ottt § SQL HHTS Wl et guiiar 8 7

(i) 39S (a) ISR == AT

(ii) HeI9TSe  (b) ST ARYATH HroT
(111) 3T17'{ (©) et fosor sy
(iv) e (d) ST JieqTST uTeT

( i) (i) (1v)
c a
TR RR
o 6 @ & ©
Which one of the following statements is |
not true about relational algebra and
calculus in Database Management System ?
(A) Relational Algebra means how to
obtain the result while relational
Calculus means what result we have
to obtain.
In relational algebra, the order is
specified in which the operations have
to be performed while in relational
calculus, the order is not specified.
Relational algebra is a non-
procedural while relational calculus
is a procedural language.
(D) _Both (A) and (C)

(B)

(©)

SIEH YEEF JUITC H HEYUEh SerToa
3 e & R °§ F=fafga 4 @ = a1 |
U HE TR 8 7

(A)Waﬂmﬁmww%%qﬁuﬂn
Y A . Foh HEHH HH P |

(B) HeuT s §, w9 Afis fear
et & Forgil sAfer fopu o €, it |
Teuqteh ot H hA ffeg Tl Barg |

(C) EeHTh SIS Th R-Sfoharcash |
ST ® HEUTH  hold QEB
YfshaTcHe YT 2 |

(D) (A) 3 (C) g

03 (Computer Sc. & App.) 18

92.

93.

A program requires 5 MB of memory.
How many pages will be required,
assuming the memory management
system uses 2 KB pages ?

(A) 2048 pages (B) 10000 pages
(C) 2560 pages (D) 25600 pages
TH TUH % fW 5 MB wHE H
TRl Bidl 8 | I8 WAd g Foh WA
S JUTTelt 2 KB U Sl SUANT hid! &,
foham Ut <t SATavarehar gift ?

(A) 2048 IS (B) 10000 U<t
(C) 2560 U (D) 25600 U<t

The page size in a system (running a
Linux-like operating system on x86
hardware) is increased while keeping
everything else (including the total size
of main memory) the same. Which one
of the following metrics below is
generally expected to decrease as a result
of this increase in page size ?

(A) Size of the page table of a process
(B) TLB hit rate

(C) Internal
memory

(D) Both (B) and (C)

T el W U9 T AR (x86 BETT W
forea-SEft stRfen foren aem & foro)
ST AT & STelfeh STehl T8 5 (T HART
% Pel AR Fled) Sl THH W@ 1T 8 |
UST TR H 39 i o THOmHReY i § 8
Torm Afeea & TT=IG: Ted H AW R ?
(A) Sfsha st st dTfeteht ST SATHR

(B) TLB &z &t

(C) &I HHI 1 3TTaieh fo@ed

(D) (B) 3T (C) g

fragmentation of main



94.

9s.

A computer system uses the Round

Robin (RR) scheduling algorithm with a |
of 2 milliseconds. |

time quantum
Processes P1, P2, P3, and P4 have burst
times of 4 milliseconds, 6 milliseconds,
8 milliseconds, and 8 milliseconds,
respectively. What will be the average
waiting time of all the processes ?
[Assume that all processes arrived at
same time].

(A) 19 milliseconds

(B) 13 milliseconds

(C) 6.5 milliseconds

(D) 19.5 milliseconds

T H oeH 2 ficiieshs i a9 w4
% WY T3S TS (RR) ISIeAT TTIeH
T ITAN AT & | GRSt P1, P2, P3,
3R P4 o A 4 ficfioers, 6 ficfaess,
8 Tircfigers 3 8 fucfioers =1 s egH

B 2 | gl ifsrnatt o st st v |
feraT 81T 2 [WH o T weft wishamd ek & |

AT H 3T TS |]
(A) 19 fiefiashe (B) 13 facfioers
(C) 6.5 el (D) 19.5 fucfioehs

Which of the following disk scheduling
algorithms schedules requests in the
direction the disk head is moving and
reverses direction when it reaches the
end of the disk ?

(A) First Come First Serve (FCFS)

(B) Shortest Seek Time First (SSTF)
(C) Scan (elevator)

(D) Circular Scan (C-Scan)

Freafofan & @ w9 @ fow e
Tenfen fewh 3 % wen 1 fam #
FY FTA & IR o % I 7 G |

o e 1 IR qAT R ?

(A) & 3T TgA I13T (FCFS)
(B) T Hieh 2130 % (SSTF)
©) T (elevator)

(D) TR Th (C-Scan)
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96.

97.

Suppose you have 6 disks of capacity
100 GB each. What is the total capacity of
a RAID 0 configuration with these disks ?

= <fifse for 3m9es 9@ T 100 GB
a1 91 6 e 8 | 3 fe=s & @y
RAID 0 fo=rma <t ot st s 8 7

(A) 100 GB (B) 200 GB
(C) 400 GB (D) 600 GB

In the context of security/ access
protection matrix in operating system,
which one of the following statements
is/are true ?

(A) There is no fixed maximum number
of subjects (such as a user or
process) that can be assigned to an
object (such as a file or device). It
depends on the specific system and
implementation.

In general, a subject can be assigned
Zero or more permissions to access
or modify an object.

Some security protection matrix
implementations may have
limitations on the number of
subjects that can be assigned to an
object due to memory or storage
constraints.

(D) All of these

JArfen foeen o gre /v WieRH
aferm & gey ¥, ffafeas @ @ &
ar/A HU T B/2 ?

(A) Towai (S8 Iu=Thal a1 wfskam) 6
1 fifeaa stiremae g 78 & Rl
fopelt avg (S8 wrsa a fearg®) #
igT <11 T & | I8 fafdy yorredt
3R i o e Hear 2 |

(B) I TR W, T fowe i fereft awg
LEREEERINIbriCTCER
1 3fersk STAfa § ST Tehdt & |

(C) B Fra v Ao wrrae o
3 farwri <t e W HiEnd 2wt §
5% T I RS SrEnsh % R
Tepeft e o1 HiT 1T Tehal 2 |

(D) ¥ |t

(B)

©
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98.

99.

Point out the incorrect statement about

virtual machines in operating system :

(A) Virtual machine enables resource
provisioning  among
operating system environments.

(B) The virtual machine can support

multiple operating system
environments.
(C) There are protection problems

because each virtual machine is
completely isolated from all other
virtual machines.

(D) Virtual machines are not as efficient
as a real one when accessing the
hardware.

JrRfen foen d sdara mefia & an |

TTeTd S bl 31T i :

(A) 9931 mefia &g TRfem faeem
e o o GEEE IEUH i
TH LA |

(B) 99g3@1 WA s Tafem fowew
TTATERT BT TS T Hehell & |

(C) HX&n §9emd SEieTY § HRiifh T
Tt wefe 3= ot agster mefil
Y I TE 7 |

(D) 9937 W9 FERR dh Tgad &
N aTEdferes Tsfiv <l a@ I Tl
B g |

Which of the following commands can be

multiple |

used to combine multiple files into a single

file in Linux based operating system ?

%qa%raﬂmﬁﬁsﬂq%ﬁ{nﬁwﬁ

fomffiaa & frg wuie @ W #E |
HIEA! hl Teh HI3el § TG i 1%111
R S Akt 8 ?

(A) Combine /T8

(B) Merge/dst

(C) Cat/¥e

(D) Concatenate /i=he-e

03 (Computer Sc. & App.)
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100. What is the command to search for a

101.

specific running process, display its
information, and redirect the output to a
new file in Linux ?

e fafsre W Tow Y @9 w9, 3T

ST Yef¥id i 3T 313eYe I foaam

T T T BEA W deriE wH & fou

HAE FTE ?

(A) ps -ef |
new_file.txt

(B) top -ef | grep process name >>
new_file.txt

(C) ps -list | grep process name >
new_file.txt

(D) top | grep process name
new_file.txt

What is the key idea behind the Banker’s

Algorithm to avoid deadlocks in

operating systems ?

(A) Resources are granted to processes
in a FIFO manner.

(B) Deadlocks are allowed to occur and
resolved later.

(C) Resources are allocated to processes
based on their maximum needs.

(D) All of these

Frfen faeen # nfay @ = & forw
ot Temmifen & s g foem @ g 7
(A) gg(%aﬂé;ﬁuﬁﬁmﬁﬁwmﬁq
|
(B) nﬁﬁagﬁﬁ%ﬁmwéaﬁ(mﬁgﬁ
TR |
(C) TETEAT ol ITeh! AfIHan JT&al &
YR R Yfhaati 1 3rafed fopan
SR |
(D)iimﬁ

. Which one of the following translators is
used to generate executable code for a
platform other than one on which it is

grep process name >

>>

running ?

(A) Linker (B) Cross Compiler
(C) Assembler (D) Debugger
frefafed & 4 I

foreht 311 wiewid o fotu fasared I wre

3= U o T T Sirar 7, 9 g
TA@E ?
(A) T

(C) TR

(B) ShTG SHUTSeR
(D) SR
O



103.

104.

Which  one
terminologies
operating system ?

of the following

(A) swapping

(B) semaphore

(C) process control block

(D) dynamic programming

frfafad & & F 1 wegEe TR
foreen @ efa T2 8 7

(A) it

(B) HHTHR

(C) wfshan fo=mvr setieh

(D) Tifersfier st

Which of the following is the correct

matching for the terminologies in

operating system ?

(1) Synchronization
tool

(i1) Job Scheduling

(ii1) Kernel type

(a) Microkernel

(b) Semaphore

(c) Process
Control Block

(iv) Data structure  (d) Shortest

is not related to the

Remaining
Time First
frafaRea & @ =4 @1 Atqfen fen °
sregTaed! % o wd fremm @ 7
(1) qeRIeTH & (a) HISshIHAA
(if) e 2rggferm (b) TETHR
(i) FaE (o) NEE g
(iv) 3T GG (d) T8 HH I |
@) () (i) (@1v)
(A) () () () (a)
B) () () (@ (@
© @ (@ ((b) (o)
D) () (@ (@ (o)
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10S.

106.

107.

Which one of the following would

breach the integrity of a computer

system ?

(A) Remote access to all users

(B) Full access rights to all users

(C) Configuring the system with an
open port

(D) All of these

frfofea § @ i @1 Fg fawed H

JTGEAT ! W HAT 7

(A) wﬁmmaﬁésmagwqga

(B) 1;{13 ITRAis o foft qui ugEw

(C) Teh Tl I & |1y foren ol Sif2h
HTT
(D) ¥ Tt

Which one of the following batch script
command in Windows operating system
is used to convert a volume from FAT16
or FAT32 to NTEFS file system ?

fage smfen feen @ f=1 § @ fepgent
IR o feRe HAE FATI16 91 FAT32
T NTFS ®5d foed § aicqq s¢aq
foTu fepaT ST © 7
(A) chkdsk

(C) emd

Which one of the following statements is
not correct about shell and kernel in
operating systems ?

(A) kernel performs
management while
command interpreter.

(B) shell is an interface between kernel
and user.

(C) kernel is a command interpreter.

(D)_Both (B) and (C)

H 9 3R A b SR H

freforfiea & 9 9 A peR TR TE ® 7

(A) it HA BASTHE HTT § Tl A
HATE TR 7 |

(B) I el I IUATThAl & &= Teh
TTHE R |

(C) el Teh HATS T R |

(D) (B) 3R (C) g
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(B) convert
(D) expand

memory
shell is a



108.

109.

In Software development, which process
model is used when the project can be
easily modularized and the requirements

are precisely known ?

(A) Increment Model

(B) Spiral Model

(C) Prototyping Model

(D) RAD Model

gy fohE #, fhE o TisA &1
ST q9 fha I 7 S9 W H
ImEr ¥ Higger R S @ehar @ 3R
JTETIHATST ! TENH € & THI ST ?

(A) Sehiiic s
(B) HfYet uiegd
(C) TIIeTEY AiseA

(D) s Hisd

In an object-oriented design, class

diagram is known as
(A) Structural Diagram

(B) Component Diagram

(C) Functional Diagram

(D) Behavioural Diagram
ED) & &Y Y T AR |

(A) HEHTHS TG
(B) =& ARG
(C) HETcHs NG
(D) SRR ARG

03 (Computer Sc. & App.) 22

110. The cyclomatic complexity of the flow

graph of a program provides

(A) an upper bound for the number of
tests that must be conducted to
ensure that all statements have been
executed at most once

(B) a lower bound for the number of
tests that must be conducted to
ensure that all statements have been
executed at most once

(C) an upper bound for the number of
tests that must be conducted to
ensure that all statements have been
executed at least once

(D) a lower bound for the number of
tests that must be conducted to
ensure that all statements have been
executed at least once

Ueh HRIHH o JdTg U 6l Fshia SAfeetdr
TG Ll 2 |

(A) TEoT <t T o foiu ueh SHudt Hm
5= @z ghftaa @ & faw fman
ST =R ok |t Al @ U AR A
Fromfea fpmman & |

(B) Theron i w@n & fou s f=eht
i 5= == ghftaa w0 & foe
Topa ST =nfeu fop aaft et =t weh
TR | fsqifea feram w2

(C) Theqon <t T o fore we Hudt
= 78 gffead &0 & forg foeam
ST =i foh Tt el ol 69 4 Y
e o1 foarfed fram mn B |

(D) Theron i '@ & fou s f=eh
o 5= a7 ghfeaa & % oo
fepan ST =nfe fop meft el =t w1
T %1 T R Feqifed fhan e ® |



111.

112.

Which of the following testing methods

executes all the loops at their boundaries |

and within their operational bounds ?

(A) Black Box Testing

(B) Alpha Testing

(C) Recovery Testing

(D) White Box Testing

frfafaa 9 & &F o sl fofy a4
T I ITeh! HHI T TR 3Teh! TR
i o iR FrTiea et @ 2

(A) S ST THETT
(B) 31T Glieqor

(C) Tiepadl gliequr

(D) <gT3< Sl gl

Which one of the following non-
functional quality attributes is not highly
affected by the architecture of the
software ?

(A) Performance
(B) Reliability
(C) Usability
(D) Portability

; 115,

Y T T % RN & et

THTTd TE @ ?
(A) fsare
(B) forgaetaan
(C) S
(D) drefaterel
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113.

114.

Which of the following represents/are

the phases of Risk Management ?

(A) Risk Listing, Risk Selection, Risk
Planning, Risk Monitoring

(B) Risk Identification, Risk Analysis,
Risk Planning, Risk Monitoring

(C) Risk Categorization, Risk Removal,
Risk Planning, Risk Monitoring

(D) Risk Catering, Risk Removal, Risk
Scheduling, Risk Monitoring

S G ARgW I &
o e e, ez,
(A) =,
T, TR A
(B) Sfed ygaH, gy fageryor,
Gﬁi@nm,aﬁ%ﬁﬁwﬁ
(C) g sfiertor, SRgH gemT, ShiRew
RISEIRCITCEREURET
(D) Wfew hefT1, SRgH geHI, SRad
Trerieor, sniftgm fmoet

Which of the following is not included
in Software Requirement Specification
(SRS) document ?

(A) Testing Strategies

(B) Functional Requirement

(C) Non-Functional Requirements

(D) User Interface Requirements
frfafad o 9 F 91 GiFes=t TTavahal
fafacw (SRS) g&arew & et 7E 8 ?
(A) e o

(B) HHTHS AERHAT

(C) TR-hricHeh HTERIHATY

(D) ISR 3THE SRR

State Diagrams and Sequence Diagrams
are which type of Requirement Models in
software engineering ?

(A) Behavioural Model

(B) Flow Model

(C) Direct Model

(D) Scenario Based Model

LIRTER ¥ W2 W 3R
Hieed SR fohe THR & STETEhdl
HigA ® ?

(A) SIIER HigA

(B) Wl AISA

(C) JI& Hisdd

(D) UNged YTRd Higd

03 (Computer Sc. & App.)
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117.

Which type of client server model has
the characteristics wherein the server is
only responsible for data management,
and the software on the

interactions with the system user ?

(A) Fat-Client Model

(B) Thin-Client Model

(C) Neutral-Client Model

(D) Master-Client Model

fFe YR & Foge TR wWied H U
foryand Biett & fomH we haet ST JaeH
fo. RFHeR 21T 2 31 FeTise T Aieaer
TfteThyH diforh 3R Rfeed Iwmmehal
1Y FATATHAT Bl AT AT & ?

(A) The-FeATse Hisd

(B) Fm-vemse Aiea

(C) IgT-TTEE Hieet

(D) AT-FATEE HigA

Which of the following is the correct
post-order traversal sequence of the
following binary search tree ?

fafafga 9 9 =9 a1 fafatea s
T Y o1 T U - AT Jodied ITFH B 7

@ )
&)
®

()

(A) 9-11-19-22-33-44-56
(B) 56-44-33-22-19-11-9
(C) 11-9-22-19-33-44-56
(D) 9-19-56-44-33-22-11

03 (Computer Sc. & App.)

client |
implements the application logic and the i

118.

121,
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119.

120.

Which of the following is/are the factor
that defines the efficiency of hash table
based numerical system ?

(A) Quality of hash function

(B) Collision resolution strategy

(C) Size of the hash table

D) All of these

T T 9 °1/8 N &/2 I 8
qATfeTehT SATETRT TRATcHS JUTeA! shl gafdT
ﬁ@ﬁ%/ﬁ??

(A) & R <hl T
(B) weg fave wrifa
(C) 21 ATfeThT T TR
(D) ¥ Tt

What is the worst case time complexity
of the binary search algorithm in a sorted
list of n elements ?

n 379IEl il HHEG T 90 99
Tien 6 J98 gue g Sfeddn
R 7

(A) 0(1)

(B) 0(log,n)

(C) 0(n)

(D) Can'’t say/&g &l dehd

What is the complexity of an algorithm
that divides the original problem of size
n into three subproblems of half the size

with the cost of 0(n?) ?

TAINeR i FeAdT 1 8 Sl n SRR
A THES 1 0(n?) hHT AN < AY 3
AR I fiF Su-mmesn o fawrfoa
HA 7 ?

(A) 0(n?) (B) O(nlogn)

(C) O(n* logn) (D) 0(1)

Which of the following is correct order

in terms of time taken by the algorithm
from minimum to maximum ?

TATIREH g =Jad & 3fehad deh foIg
TC gAY o T # fefafed § @ s @
TE AR ?

(A) logn<n<n?<nlogn <a"

(B) n<n?<logn<nlogn<a"

(C) logn<n<nlogn<n?<a"

(D) n<logn<nlogn<n?<a"



122.

123.

Which of the following statements is/are
correct for a max heap tree ?

1. If there are 11 elements in a binary

max heap tree, then it will have six

leaves.

2. The minimum element of a max
heap is always found at its
rightmost leaf node.

(A) 1 only (B) 2 only

(C) 1Tand2 (D) None of these

I v & & fou fafafea @ @ &9

o1/ O TR /R ?

1. IR AT AT 11 aa &, @
T9H B T91 B |

2. B Y H IIH ded gAI H

T Trie 9ot & I8 W T ST 2 |
(A) hae 1 (B) haet 2
(C) 132 (D) T & &5 Tl

Which of the following statements is/are

false about P/NP problems ?

1. Problems that can be solved in
polynomial  time are called
intractable.

2. NP is the class of decision problems
that can be solved by non-
deterministic polynomial algorithms.

(A) 1istrue, 2 is false

(B) 2istrue, 1 is false

(C) Both are false

(D) Both are correct

ﬁmﬁ“@nﬁ@ﬁqm%ﬂqpmpg

FEET3T o IR H Terd 2 /8 ?

T Hehell B 37 TS hal T § |

2. NP Fiota s 1 900 & Rl e

RS EhaT 2 |
(A) 19818, 27 ¢ |
(B) 2T&I %, 1 T & |
(C) GHITed & |
(D) QI H& & |
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124.

125.

branch and bound strategy
leads to breadth first search and
strategy leads to depth first search.
(A) First In First Out (FIFO), Last In
First Out (LIFO)
(B) Highest cost, Lowest cost
(C) FIFO, Lowest cost
(D) Highest cost, LIFO
I 3R a8 WHIfd <ies
g @il 3R A A} 3
Trftfer TS et @it <l 3R o ST B |
(A) & 3 W 332 (FIFO), e
% TS (LIFO)
(B) 3=IqH AT, TH $HH AN
(C) HI%!, Ga8 A AN
(D) 3=dH «Td, LIFO

Which of the following statements is/are

correct about minimum spanning trees ?

1. Prim’s algorithm does not generate
forests during the algorithm execution
but Kruskal’s algorithm does.

2. Kruskal’s algorithm first considers
the edge having minimum weight.

3. Prim’s algorithm starts the execution
from an arbitrary node of the graph.

4. It is possible to have two different
optimal solutions in case of
Kruskal’s and Prim’s algorithm on
the same graph.

(A) Only 1

(B) Only 1 &2

(C) Only 1,2 &3

%-2, All 4 are correct )
H E H HI/E HYA fa ST

R H W B/E 7

1. Temien fsaed % SRH WsH W

TN a9 39 T LTl B, AT

Wwwﬁﬁma;t%%q%é

2. FHEhHA hl TN =
CEEICICRET R I E LS

3. YTEH ol TANNSH U6 & Th WD
qﬁ@%ﬁmg@m%ﬁ N

4. TH F UH W gy
Wﬂﬁm%ummm—w
ITAH THTEH 99 § |

(A) Had 1

(B) hael | 3R 2

(C) =heet 1,2 3R 3

(D) &t 4 W1 & |
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127.

Which of the following statements is/are
correct about approximation algorithms ?

1. They guarantee to run
polynomial time.

2. They always give optimal solution.

3. They provide near-optimal
solutions.

(A) 1 only (B) 1and2

(C) 1and 3 (D) 2and 3
gf~iehe Temifen & ar # fr=fafea 4 @
HH /A FEA TR /B 7

1. o 9g9e T H 9o o M < § |
2. JdHEITAHEACAR |

3. o STYT-35AH HTYT Y $d # |
(A) Had 1 (B) 132

(C) 133 (D) 2 33

in

Which of the following statement(s) are
correct for a finite state machine for
finite automata ?

(1) It is an abstract computing device
that recognizes the collection of
strings.

(i1) It is the most basic computer.

(ii1) It is a computer without memory.

(A) Only (i) and (i1)

(B) Only (ii) and (iii)

(C) Only (i) and (iii)

(D) (i), (i1) and (iii)

gitfra 3riemer o fou ufifia staeen wefia

% foTu FrfcTRaa T H S AR TR & 7

(i) %@@%Wﬁwéﬁ

& < wyrg 1 TEaHa § |
(ii) e TE A FIKR 2 |
(iii) T8 TertT Hu aret sheget R |
(A) ad (i) 3T (ii)
(B) had (ii) 3T (iii)
(C) haet (i) 3 (iii)
(D) (), (i) 3 (iii)
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128.

129.

For converting the following CFG to
CNF, how many variables are introduced
for the terminal symbols ?

fafafea CFG =1 CNF # uf@fia &
% foru, et wdtert & foTu fepa ==
frum e 7

S >aAb | bA;

A ->a | aB;

B ->b | Ba;

(A) 2 (B) 3

©) 4 (D) 5

Which of the following is true while
converting NFA into DFA ?

(I) The initial state of the DFA will be
the initial state of NFA.

(I) The final state of DFA will be all
sets of NFA's states that include at
least one accepting state of NFA.

(A) Both (I) & (II) are False.

(B) (I) is True & (II) is False.

(C) (II) is True & (1) is False.

(D) Both (I) & (II) are True.

NFA % DFA ¥ uf@Efdd ®d a9
FEAfRea d g A A HE 2 ?

() DFA 1 YR 31@wenm NFA 6
TR STaET Bt |

(I) DFA & 3ifem fafa NFA &6t
HIEAT3 & gt e g 51 wn 9
%Y Th NFA ol WHR HW arelt
ST IMTHA BT |

(A) () 3R (IT) G 7Te7el € |

(B) (1) @&l g 3 (1) Terd 2 |

(C) (1) T& 2 3 () Terd 2 |

(D) (I) 3R (I1) &1 &1 8 |



130.

131.

132.

Push Down Automaton (PDA) can be

viewed as a Turing machine that uses |

as the auxiliary memory.

wma@ﬁa(PDA)aﬁ@aﬁm

3= & €9 A @1 I Hehal & S HEHH
T HEIH  HIITET R |
(A) Queue/d]

(B) Linked List/feiers foree

(C) Stack/=h

(D) Heap/ala

What is the type of following grammar
as per Chomsky Hierarchy ?

G->hGii

G-> hii

(A) Type 0 Grammar

(B) Type 1 Grammar

(C) Type 2 Grammar

(D) Type 3 Grammar

TTeeeh! IEHsRH o IER feferfad R
HT IR TS ?

G->hGii

G-> hii

(A) YOI (B) =T 1 AW
(C) 29X (D) =9 3 U

How many states are required in a ;

Deterministic Finite Automata (DFA)
that aims to recognise the binary strings |
having nth symbol from the R.H.S. (end)

equalto 1 7

ﬁﬂﬁWQﬁﬁﬁa@ﬁa(DFA)ﬁmﬁg
I RHS (37) & 1 % TR n i |

&t TS fedd i wg= 2 7
(A) n" (B) n2
(C) 2 (D) n!
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133.

134.

Consider the following initial code and
its respective optimized code :

Initial code:A =B * 2;

Equivalent Optimized code:A = B + B;
or A=B<<1;

Identify the appropriate peephole
optimization technique applied in above
optimization (here << represents the
shift left operation).

(A) Redundant load and store elimination
(B) Strength reduction

(C) Constant folding

(D) Combined operations

IRfYeh hig 3TN I8k FEfaa
IR I W =R =i
IRfR hIS: A=B *2;
WW%:A=B+B;M

A=B<<1,
sgvﬁtﬁq‘éﬁ

ST ST ﬁ AN

3HApdd dehileh bl

fre v SATRIH I i1 B) |

(A) AR TR 3R TR I/eH

(B) eIwar ®

(C) THTIAR BifeST

(D) H’ﬂ?ﬁ’éﬁl’lﬂq

Which one of the following statements

is applicable to the LL parser ?

(A) It generates the right
derivation in reverse.

(B) Parse tree is constructed in top
down manner.

(C) It can parse the left recursive
grammars.

(D) It can work with ambiguous grammar.

frafafga & @ 9 @1 H9H LL TR W

A EEIE ?

(A) % fod 4 a8 gt sgata I
HATE |

(B) U™ & &1 fmiwr <@ e & @
fer ST ® |

(C) Ig a4 YR TR ST ITE ST Fehell
2

(D) I8 T UTHL o H1Y T HL FehdT & |

most
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135.

136.

Match network protocols with their
respective functionality :

Protocol Functionality
(i) CDMA (a) Remote Login
(1) IPV6 (b) Support for Flow
based routing
(ii1)) SSH (c) Spread Spectrum
(iv) TCP (d) End to end
reliability
Jeaeh WIChIct T Ieh! Teferd shrierHar
o a1y e &
Terehie Eaptienl
(i) CDMA  (a) T @ifE
(ii) IPV6 (b) JaTg e T3fem
o forT T
(iii) SSH (c) TS WA
(iv) TCP (d) T 2 Ug favaariar
(i) (@) () (iv)
A) () () (@ ()
B) (b) (© (@ ()
© @ (© (@ (O
D) b © @ (a

Choose the odd man out with respect to
network security.

(A) Malware Analysis

(B) Digital Signature

(C) Fat Networks

(D) Digital Water-Marking

eaeh AT % TEY | 3TEA Bl I |
(A) HTeTeRR forgeryor

(B) fesfeat gwaner

(C) HeAeTh

(D) fesfieat ater-mfdn
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137.

138.

Which one of the following statements is

correct about the Internet of Things

(IoT) ?

(A) It permits the communication
enabled devices/things to connect to
Internet.

(B) Al the TIoT devices have
sophisticated processing and storage
capabilities.

(C) The simultaneous collection and
processing of data by IoT devices

enable the real-time decision
making.
(D) Both (A) and (C)
3 AT g (1oT) & s ¥ fr=forfaa
TH DA ATHYT TR 8 7

(A) I8 TOR TTH ITHLUN /ST bl FIT
YA AT R |

(B) Tt [oT IUehTUTl H TRSHd THATT 3R
TR &rard gl & |

(C) ToT 3UhIUT gRI T 1 Teh T1Y TR
IR gehmor Goet-2rgH ol o o
e ST 2 |

(D) (A) 3R (C) gHi

Which of the following terminology is
not related to the cloud-based web
application ?

(A) Scalability

(B) Serverless architecture

(C) Public DNS address

(D) Site Fragmentation

frfafga & & ®F @t vegEe FR—e-
e o uftershe @ eiferd TE 2 7
(A) Theifafere]

(B) wawfea anfhearn

(C) |rEsI-eh DNS et

(D) w3 fa@ea



139. Which of the following statement(s) is/are

140.

true about digital certificate ?

(A) Digital certificate is issued by a
receiver to prove the identity of |

sender to the server.

A digital certificate is issued by a
Certificate Authority (CA) / Trusted
Third Party to check the semantics of
the data.

A digital certificate is issued by a
Certificate Authority (CA) / Trusted
Third Party to prove the identity of
sender to the receiver.

D) All of these ] )
%ﬁmm%aﬁﬁﬁtﬁﬁaﬁﬁﬁaﬁ?

(B)

(©

/U R TE 8/ ?
(A) T i I9h Hl UgH TIfed L b
Tedehal g1 fesfieat s S

TR ST 2 | '

(B) =1  fodfeam (319 fosmm) ft Siter &
ot ymmomm et (CA)
faweda qdw g g
Gifthehe I AT TR |

(C) JTeiehdl sl Y& hl Tg= HIferd i |
% fou ymomm wlte (cA) /o

foreae i g et gr festied
S R ST B |
(D) It
Consider a scenario in which the attacker
overwrites certain memory areas of the
computers within the network with the
code that will be executed later when the
prolgramming error occurs. Once the
malicious code is executed, an attacker
can initiate a Denial of Service (DoS)
attack or gain access to the network.
Identify the tlg,lpe of the attack.
(A) Traffic Flooding
ggg Buffer Overflow Attack
D

Asymmetric Routing
T U

Port Bombing
2T o Wi 3
HIS & Y

BRINEF]

2 | 39 gAcl o YR I TgaH & |
(A) Sftheh Featen

(B) SR ST 31h

(C) IrEmfta T=femn

(D) U SHaTd

aftge W TR i fSaH gaete |
T AR &1 ol 39 |
) REUEAEC IR
s Ffe g W Femfea ferm Som | TR |
TR GHIEHATIN i FoaTfed &1 S W e, |
FHATR TS ATH Ffed (DoS) FHAT € |
T Heh1 g T e b Tgd I L Hehall |

141.

142.

Which of the following search
algorithms performs the mini-max
search and eliminates the branches that
can’t influence the final decision ?

(A) Depth-first search

(B) Breadth-first search

(C) Alpha-beta pruning

(D) Both (A) and (B)

ffofea o @ #F @1 o< wemien fiFfi-
Herel T el B S I WA h B ol B
T 3iferm fofar <t refera T R TRAT E 2
(A) SHI-BE @S

(B) SSA-HE @ISl

(C) IFehI-sfter I+

(D) (A) 3 (B) g

Match the following in context of
semantic networks in Natural Language
Processing:

1. Synonymy a. Xissuperordinate

relation of Y
2. Antonymy b. X denotes the
relation same as Y
3. Hypernymy c. X denotes
relation opposite of Y
4. Meronymy d. X is partor
relation member of Y
TTeh{deh WINT WehHOT & fEHfesh Jeae
Ted 1 frfetftaa o firem o6t
1. Tt a. X, Yl
ey AR R |
2. wafniiEEy b, X, YRTEAR |
3. gyt c. XHIAAY®H
ey faofa g |
4. wfefigsg d. X, Y9
IR |

(A) 1-a, 2-b, 3-c, 4-d
(B) 1-b, 2-c, 3-a, 4-d
(C) 1-b, 2-c, 3-d, 4-a
(D) 1-c, 2-b, 3-d, 4-a
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143. Match the following

03 (Computer Sc. & App.)

in context of
planning algorithms (for exploring the

search  space)  with  appropriate

statements:

1. A planning a. the order in which
algorithm solutions are found
is optimal is consistent with
if ... some measure of

plan quality

all solutions are
included in the
search space

2. A planning b.
algorithm
is sound if

3. A planning c. a solution can be

algorithm found whenever
is complete one actually exists
if ...

4. A planning d. all solutions found
algorithm are legal plans - all
is  strictly preconditions and

complete if goals are satisfied

and no constraints !
are violated i

UL Y1 o WY TATREH (QISl T hl |
@i & forw) f Ao s deod 3§
Frferttaa = farem i
1. Fraem (a) TS| 0 # @
Teien ITT AT & 8 AT
w%aﬁ;’ I TUERT ®
gw%aa@

(b) @t TEEH @
I H e § |

2. T
TATINEH
e g A

3. Ferem (c) & ¥t IE arad §
TEIRGA Q0 NG BT &,

2afe ... AT 917
Tl 8 | 5
4. TS (d)mﬂwmﬁ?ﬂfﬁ
e
GET T peee
1 IooTe & T
STt |

(A) 1-a,2-d, 3-c, 4-b
(B) 1-d, 2-b, 3-c, 4-a
(C) 1-b, 2-¢, 3-a,4-d
(D) 1-c, 2-a, 3-b, 4-d
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144.

145.

Which of the following is true about the

Gradient Descent algorithm for tuning

parameters of a machine learning model ?

(A) It tunes the model parameters
iteratively.

(B) The speed of convergence is not
affected by the value of learning

rate.

(C) It always finds the optimal
parameters for all kinds of cost
functions.

(D) All of these

HefA ST Aiga o HIUGE! Sl 3T HH &

foru afeue fedic wemiien é; TR A

feaffeada s adi 8 7

(A) I8 Aied Wfled ®I TP €9 4
TE R R |

(B) 3fiEror < nifar wie i & o @
STlerd T8 8l & |

(C) I8 BHM T THR o AT R 6
foTu swam Ffie gean 2 |

(D) ¥ Ty

Which of the following statements is/are
not correct in the context of semantic
web technologies ?

1. Ontology layer
expressive languages
schema.

2. Ontologies are responsible for
searching the web, interpreting the
retrieved information and
communicating with other agents.

3. Metadata is  responsible  for
processing retrieved information
and draw conclusions.

frifees o= drenfiferat & del # Fefafea

T Y $HH F1/8 e TE Tai 8/8 ?

1. FALICSH W RDF @hiat i ol |
3nferes tfefayel T yeH et B |

2. A9 W G H, U TSR
RS T 3T 3= TSl o 91 Td1E
H F FoTu sT=Rrerrst R § |

3. Hred YU SRl Sl HaTtd
F IR feky frben % fag
SR 2 |

(A) 1

©) 3

provides more
than RDF

(B) 2 &3
(D) 1&2



146.

147.

148.

A and B are two fuzzy sets with
membership functions as follows :

HA(x) = {0.4,0.5,0.6,0.7, 0.3}

uB(x)= {0.1, 0.2, 0.2, 0.4, 0.8}

What will be the value of pANB ?

A 3R B 37999 %o o @19 Q1 Bt
(Y)W & :

HA(x) = {0.4,0.5,0.6,0.7, 0.3}

uB(x)= {0.1, 0.2, 0.2, 0.4, 0.8}

HANB T T =T &R 7

(A) {0.4,0.5,0.6,0.7,0.8}

(B) {0.1,0.2,0.2,0.4,0.3}

(C) {0.5,0.7,0.8,0.9,0.9}

(D) {0.3,0.3,0.4,0.3,0.3}

In a genetic algorithm, the two
offsprings are represented by bit streams
as follows :

T AR TR H, g gt s
e fore emat gy gurten AT 2
10110101

01100110

The one-point crossover operation is
carried out at the midpoint. What will be
the decimal representation of the newly
generated two offsprings ?

Th-foig SHESTa HATOEH Hed %lg L
WT STaT B | ey Qi
TS T @ B ?
(A) 181,102 (B) 182,101
(C) 181,101 (D) 182,102

A fully connected neural network has

three input nodes, one hidden layer with |
5 nodes and one output layer with a |
single node. Assume that one bias is
associated with each layer except the !

output layer.
parameters are required to be tuned ?

How many weight |

%‘; A R

mmwzﬁg%wmm
é%mwﬁéﬁwmw%
T T IIE T 83T 8 | 3T A b o1y

Tt e et <6l STeagarehal & 7
(A) 20 (B) 21
(C) 15 (D) 26
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149.

150.

What is the Euclidean distance between
the following two objects represented by
2-dimensional vectors : C1(2,3) C2(1,5) ?

2-3rEmt gfem ¢ C1(2,3) C2(1,5) g
e fafafed @ st & &=

gfetfea gt fref 2 2
(A) 3 (B) 3
(C) V5 (D) V17

Match the following machine learning
models with their relevant mechanisms :

A B
(1) Supervised (a) uses reward-
Learning based
mechanism
(i1)) Unsupervised (b) uses
Learning labelled data
(ii1) Reinforcement (c) does not use
Learning labelled data
frafafegs mefm affn oiew =1 *
ITERTe T o T e
A B
(i) grEamse  (a) FarS-amemia
IE T B ITM
HAE |
(i) FTRATESE  (b) W& It 8
At ST ITATT Il
gl
(iii) Tz (c) oS 9Tt 3T
At T ITINT T&H
HIAT2 |
(i) (i) (i)
A) (@ () (0
B) (b) (© (@
©) (© (b (a
D) (b) (@) (o)
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